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a7 R4 R3 B4 (R4./R3)
#HE (L) | £B(FAM) (Bl (A/ke)| #E2 () | £ (FA) |BEiE (A/ke)| HE(hY) | 5 (FM) | B (M/ke)
D) 137,169| 6,304,405 46| 154015| 5039,967 33 89.1%  125.1%  140.5%
i 1257| 1,226,973 976 1209 1,104,845 914|  1040%  111.1%|  106.8%
85 7,028| 1,668,926 237 6,971| 1,249,760 179|  1008%|  1335%  132.5%
Py 28,795| 1,732,038 60| 44554 1961596 44 64.6% 88.3%  136.6%
¥ 1253| 660,872 527 1538| 823457 535 81.5% 80.3% 98.5%
A9 505| 427,318 846 52| 19,005 367|  971.2% 2237.9%|  2304%
52 1477 1,325,351 897 2092| 1,328,535 635 70.6% 99.8%  141.3%
e 379| 1,256,207 3315 333| 1,069,058 3210  1138%  1175%  103.2%
F41) 1301| 1,063,755 818 1437| 930,262 647 90.5%|  1144%  126.3%
o7 2243| 3253810 1451 2.880| 3,732,369 1296 77.9% 87.2%  111.9%
zot 7,366| 4,342,069 589 6,594| 3,700,926 561  111.7%  117.3%|  105.0%
ad 188,773| 23,261,724 123| 221,675/ 20,959,870 95 85.2%  111.0%|  130.3%
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